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Wykresy podstawowych funkcji 
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Linia czerwona ciągła -  f(x) = arcsin(x) ;    linia niebieska przerywana  - f(x) = arccos(x) 
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Linia czerwona ciągła -  f(x) = arctg(x) ;      linia niebieska przerywana  -  f(x) = arcctg(x) 

------------------------------------------------------------------------------------------------------------------------ 

      

linia czerwona -  f(x) = chx;                               linia czerwona -  f(x) = cthx;     

linia niebieska   -  f(x) = shx;                             linia niebieska   -  f(x) = thx. 
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Wykres funkcji y=1/(1+x^2)
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